System
RMR2301

Minuteman Front Grooved Roller

MINUTEMAN
ROLLERS

Bearing Install

Baber Turf Equipment Co.
Unit 6 / 10 Firth Street Auckland, 2113
09 294 6040

https://baber.rrproducts.com/

Details
Complete roller systems include roller and two

brackets with bearings.

Specifications

Manufacturer R&R Products
Roller Body 3in
Diameter
Weight 10 1b

Fits Models

Ransomes 250

Replacement Parts

RMM3 End Hub - 7/8 ID

RMMB157 Bearing w/Locking
Collar

RJ121 Bracket - Front LH/RH

RMM®602 Bolt - Carriage 5/16-18
x2Gr5

R453009 Washer - Flat 5/16 SAE

R446136 Washer - Lock 5/16
Zinc

RMM603 Nut - Hex 5/16-18



